DMG-S32A24 320 Dots X 240 Dots | 1/240 Duty | 1/17 Bias
FEATURE ELECTRICAL
LCD TYPE STN, FSTN ITEM SYM. | CONDITION | MIN. | TYP. | MAX |UNIT
LCM CONTROLLERIC SED1335 or Equivalent Supply Voltage i
LCM BACKLIGHT TYPE LED , CCFL For Logic Vop-Vss | Ta=25TC 45 | 50 | 55 \4
POWER SUPPLY FOR LCM DC +5V Suoolv VoIt
LED BACKLIGHT INPUT DC +5V. upply Voltage Vieo Ta=25°C | 227 | 230 | 233
FL INVERTER FLOOL-5A/ FLOOI-12A For LCD Driver
LCM DIMENSION 160.0 (W) X 109.0 (H) mm_||Input High Voltage | Vi - 2.2 =~ | Voo | V
LCM VIEWING 122.0 (W) x 92.0 (H) mm_ | |Input Low Voltage Vi -- 0 - 0.6 \Y
ACTIVE DISPLAY AREA 115.17 (W) x 86.37 (H) mm_| [Supply Current
LCD DOT SIZE 0.33 (W) x 0.33(H) mm_| | For Logic Ioo Vop =+5V - 70 | 100 | mA
LCD DOT PITCH 0.36 (W) x 0.36 (H) mm | [ Es Gurrent n T — 208 A
ABSOLUTE MAXIMUM RATINGS
ITEM SYM. [ MIN. [ TYP. [ MAX. [ UNIT ELOCK Dl
OPERATING TEMP. Top 20 - +70 °C
STORAGE TEMP. Ter -30 - +80 C
INPUT VOLTAGE V, Vss Voo vV LD
SUPPLY VOL. FORLOGIC |[Vpp-Ves| -- 5.0 6.5 Vv IB0-DB7——~ 300 X 240 Dots
SUPPLY VOL. FOR LCD Voo-Vo | - 230 | 280 vV
INTERFACE PIN CONNECTIONS MR— Contral
NO. SYM. [LEVEL FUNCTION R—= IC
1 /RES L Reset signal A— SEDI33D
2 IRD L DATA read
3 JWR L DATA Write /ISP BFF—
4 ICS L CHIP select /08—
5 A0 H/L Data/Instruction code JRES—] 3PK SRAM
6 DBO H/L Data Bit0
7 DBL H/L Data Bitl
8 DB2 H/L Data Bit2 V]
9 DB3 H/L Data Bit3 VI——————{V]
10 DB4 H/L Data Bit4 V§S—= Power
1 DB5 H/L Data Bit5 Vo—s| Supply LM
12 DB6 H/L Data Bit6 VSS*'—'VSS
13 DB7 HIL Data Bit7 VB §3°Ac4
14 VDD - VDD(+5V) R
15 VSS - GND(0V) 50K °
16 VEE -- Negative Voltage Backlight 1]
17 \o -- Contrast Adjust ‘ Backlight 24y VEE
18 |/DISP OFF Display off signal Bucklight 2—
19 | LED-A - LED-A (DC+5.0V)
20 | LED-K — LED-K (DC 0V)
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